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C C m m m/s, m cm mg/l | mg/ mg /2 mg/2 | MPN/100m0 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mS/m
2010.07.26 | 10:05 | §its | W |32.0[26.8| 0.5 1.62| 2.57|> 50| 7.7 3.9 2.5 6.8 3 6.1 0.86 1400
2010.07.26 | 12:05 | §fits | WF | 32.2(29.0| 0.5 1.64| 0.32|> 50| 7.7 5.5 3.0 6.7 6 6.9 0.76 3000
2010.07.26 | 14:05 | yfids | #5 [32.1[30.7| 0.5 2.33|  0.00 30| 7.7 7.8 1.1 6.6 7 5.8 0.75 3100
2010.07.26 | 16:05 | fil | 4% |30.8[29.9| 0.5 3.03| 4.68 39| 7.9] 8.8 4.4 7.4 9 5.8 0.74 3100
2010.07.26 | 18:05 | fidr | 4% [27.5]27.2| 0.5 3.14| L90|> 50| 7.6| 6.1 5.1 6.2 2 5.7| 0.65 430
2010.07.26 | 20:05 | fidr | 4% [27.0[27.0| 0.5 2.93 | 3.44 75| 4.3 6.9 6.8 2 6.1 0.68 260
2010.07.26 | 22:05 | iy | 2 [26.5[27.0| 0.5 2.56 | 2.05 7.5| 4.5 6.6 7.0 3 6.8 0.78 720
2010.07.27 | 00:05 | il | 4% |26.0(26.5| 0.5 2.39 | 1.50 7.4 3.4 4.5 6.5 2 6.9 0.68 1100
2010.07.27 | 02:05 | fidr | 4% [25.2]26.2| 0.5 2.70 | 0.28 7.4 3.2 5.0 6.4 1 6.1 0.67 770
2010.07.27 | 04:05 | jfids | 4% [25.1[26.3| 0.5 2.94| 1.39 7.4 3.4 5.0 6.1 2 6.0 0.68 690
2010.07.27 | 06:05 | iy | 2% [26.5[25.2| 0.5 2.94| 1.88|> 50| 7.4| 3.4 5.8 6.6 2 5.8 0.76 190
2010.07.27 | 08:05 | yiits | W |29.5[26.5| 0.5 2.60 | 3.68|> 50| 7.4| 3.0 4.2 6.5 2 6.1 0.76 880
2010.07.27 | 10:05 | §fits | W | 31.5[27.0| 0.5 L94| 1.90|> 50| 7.4 3.4 3.6 6.4 3 6.5| 0.75 1000
PEE 28.6 | 27.3 1.97 46 | 7.5 4.7 4.7 6.6 3 6.2 0.73 1300
I/ IMIE 25.1 | 25.2 0. 00 30| 7.4] 3.0 2.5 6.1 1 5.7] 0.65 260
I ARAE 32.2[30.7 468> 50| 7.9| 8.8 6.9 7.4 9 6.9 0.86 3100
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C C m m m/s,m cm mg/ | mg/ mg /2 mg/2 | MPN/100m2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mS/m
2010.11.29 | 10:10 | ffids | #5 [11.2]12.6| 0.5 2.56| 0.79|> 50| 7.5| 6.4 2.6 5.6 2 6.6 0.51 780
2010.11.29 | 12:10 | §iid> | BF | 13.0[13.8| 0.5 2.63| 1.87|> 50| 7.4| 6.7 2.9 5.6 2 6.1| 0.55 1100
2010.11.29 | 14:10 | §fgts | WF | 14.4 [ 14.0| 0.5 2.33| 1.80|> 50| 7.5| 7.0 2.3 5.9 2 7.2 0.57 690
2010.11.29 | 16:10 | §fits | W | 13.0 [ 14.2| 0.5 2,10 1L17|> 50| 7.5| 6.6 3.4 6.2 3 6.9 0.58 1000
2010.11.29 | 18:10 | yfids | #5 [12.8 [ 15.0| 0.5 198 | 0.91 7.5| 6.4 3.5 6.7 3 6.4 0.63 870
2010.11.29 | 20:10 | §igts | HE | 10.2 [ 14.3| 0.5 2.10 | 0.52 74| 6.0 3.3 6.6 2 75| 0.59 960
2010.11.29 | 22:10 | g | 0§ | 8.5[12.8| 0.5 2.29 | 0.48 7.4] 5.9 3.1 6.5 2 7.2| 0.54 830
2010.11.30 | 00:10 | gfgts | HF | 8.3 [12.4| 0.5 2.28| 1.38 74| 5.8 3.5 6.7 2 7.2| 0.54 750
2010.11.30 | 02:10 | yfids | #5 | 7.3]12.0] 0.5 199 | 2,04 7.4 6.0 2.7 6.0 3 7.2 0.55 890
2010.11.30 | 04:10 | gig> | HE | 6.3[11.9] 0.5 1.63| 3.09 7.4] 5.6 2.7 5.8 2 6.6 | 0.57 1100
2010.11.30 | 06:10 | §fits | W | 5.1[1L.0| 0.5 1.63| 0.50|> 50| 7.4 5.8 2.7 6.0 2 5.9 0.58 1900
2010.11.30 | 08:10 | §fits | WF | 7.0[11.9| 0.5 2.00| 0.60|> 50| 7.4| 5.8 2.4 5.7 2 5.8 | 0.54 2100
2010.11.30 | 10:10 | s | #5 |[11.0]12.2] 0.5 2.42| 0.58|> 50| 7.5| 6.5 2.6 5.7 2 7.1 0.54 830
P 9.9 12.9 L21|> 50| 7.4 6.2 2.9 6.1 2 6.7| 0.56 1100
/M 5.1[11.0 0.48|> 50| 7.4| 5.6 2.3 5.6 2 5.8| 0.51 690
e KAE 14.4|15.0 3.09|> 50| 7.5| 7.0 3.5 6.7 3 7.5 0.63 2100
m, k 0 0 0 0 13
n 13 13 13 7 3] 13 13 13 13 13 13 13




